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1. R={(x, x?) | x Yarg 13 g s Geopeurar UsT cramser) erenp o pellen

ei&FsLomang) :

(=1) 2,3,5,7) (=) {2, 3,5 7, 11}

(&) {4 9,25, 49, 121) () {1, 4,9, 25,49, 121)

The range of the relation R={(x, x?) | xisa prime number less than 13} is :

(a) {2’ 3’ 5’ 7} (b) {2/ 3/ 5/ 7/ 11}

(Y7 14,9, 25, 49, 121) (d) {1,4,9 25 49, 121}

2. n(A)=m Py n(B)=n eaflé B -AmHg A -5@ awmrupssiulL sriysafer
QLTSS orewTaniEans : :

(o) m (<) (@) 271N () 2o
Let n(A) =m and n(B) =n, then the total number of functions that exist from B to A is :
@ o b) nm () 2y @ 2mn

3. wéalyen auEssed gomans Copmsdeariiy, a whnb b erem Wleas WPPHESHEHES,
‘ Fai$s s (pp&seT q HMID 1, a=bq+r AT HELILILTETD, QG
I NG
(=) 1<r<b (&)0<r<b (@) 0<r<b (F) 0<r=<bD

Euclid’s division lemma states that for positive integers a and b, there exist unique positive
integers q and r such that a=bq +r, where r must satisfy. :

( 1<r<b ) 0<c<bh & 0=r<b @ 0<rsb

4. @@ &S Qzri eaflaelien 6 eug emulden 6 LLEED 7 aug o muber
7 WLEEW Fwb afle), 2sm (S QsTteufleasder 13 aug o miiy :

(s1) 0 (<2) 6 (&) 7 () 13

If 6 times of 6t term of an A.P. is equal to 7 times the 7th term, then the 13t term of the A.P.

1S : o
&0 ®) 6 © 7 @ 13 g
2]
‘ =
5. 22-2r-24 wpgd 2—kr—6-wlan B.Quma (x-6) erafléd, k-ullem AL §§
(1) 3 ()5 (8) 6 (r) 8 e
If (x—6) is the H.C.F of ¥2—21—24 and x2—kx —6, then the value of k is : §§,
@) 3 5 © 6 @) 8 =
< ?
-
=+
¥-IIII

=
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@ Blréd wemiuden, 2))) i i :
By By wmpgy e AK. RAJADHURAI M.Se. MPNLB £

(1) MG el (@) epowefiiL el g 1 ASSISTANT (MATHS)
(&) Blred> vanfl (7) ey e GOVT (G) HIGHER SEC. SCHOOL
Transpose of a column matrix s : PODATURPET - 631208.
8- it Sninis e o TIRUVALLUR DISTRICT
(c) column matrix @’)/:W matrix

alLsder AstOCHIHL igan QIWPD QFRIGESTS S@wLbd GLL :

(21) Wb () Qar® yerefl

(8) wyeila (%) pra

A tangent is perpendicular to the radius of a-circle at the :

() CEI.‘ltTe Point of Contact

(c) Infinity (d) Chord

7x—3y+4=0 eremp (E‘r_F;r'rCSa;rrLLq_!j)@ Qoarwurseybh g dlyerell aulfl& Q& gd
CrrGariger swarlr@® :

(1) 7x—3y+4=0 (=) 3x—7y+4=0

(@) 3x+7y=0 JF) 7x—=3y=0

The equation of a line passing through the origin and parallel to the line 7x—3y +4=01is :
(@) 7x-3y+4=0 /0o (b) Sx-7y+4=0

() B3x+7y=0 I 7x-3y=0

(0, 0) HMD (-8, 8) eTamD LjeTeml&ener @)en et &L (Sa;rn_u}g)@& Q&mgg,g,lrm

Garliger FTle)] :
1

(1) ~1 (@)1 @) 3 (W) -8

The slope of the line which is perpendicular to a line joining the points (0, 0) and (-8, 8) is :
p
"Q 1

(@ -1 &S [e)des @ -8

@ Caryrsdlen 2 WLrsSn@b sigen Hlpaer Sarsdd@h 2 arar aﬂeﬂg;u) J3:1 erafle,
Gfuemens sremid gHDECaTam areurang) : :

(<21) 45° ( )30° (@) 90° (rr) 60°

If the ratio of the height of a tower and the length of its shadow is J3:1, then the angle of
~ elevation of the sun has measure :

@ 45° 0 30° © 90° o 60°

[ $wLiys / Turn over
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1. 15088 o.wpapd 16 @8 8. el Lapib Gsnaem_ @ Cpian_L.é subder ammaruigLL)

f((.;u)m'asﬂmﬁ (23) 68 # # Qs 8

M2 (Q%lipw&ﬂuﬂ J (#) 1% #5088

o ‘.mmnﬂﬁmdaﬁg}ﬂmmmdwgmwmmwml(ocmn
(a) 60 7 cm? (b) 68 7 cm?

(©) 120 m cm? @)/1361:(11\2

12. 10s.8. 2P, 5 Q8.18. 2wy GSTaRTL @ WY QWWQQQ@M a&&uf_“
s Byerey Qsram Carerd Qeul_iy rHESULGEADG cTalld G B AETQ).
(5.08.8. -&)

4 10 20

(@) 37 () 5 (@) 5= (/) 37

The volume (in cm?) of the greatest sphere that can be cut off from a cylindrical log of wood
of base radius 1 cm and height 5 cm is :

o A 2 3"
3 (b) 37 () 5= (d) 3
13. Qar@ssuulL eeausaid g gauprars) ? A.K.BRTA\LASDSHUP' Ed C
.T. IS |
(1) P(A)>1 («2,) 0=P(A)<1 GOVT (G) HI™ e &
L ; PODATUL. ... t
(@) P(¢)=0 (v) P(A)+P(&) =1 TIRUV, "R,
Whigh of the following is incorrect ?
M/l;(A)n () 0<PA)=<1
© P@)=0 @ P@A)+P(&) =1

14. @@ uarieuude T 2000 Grr (Hi&er 10-1b, T 500 CHT_@G&er 15 -1b, T 200 Crr_Haer
25 -1b 2 eraran. e CHTLE Fwamiiy wople ahssiuGdams aald, ibs
G @ % 500 Chin_Lr&EGaur sidag T 200 CrrLrsGaur @muusharer Hapssay
eremen ?

(@) 5 (@)1 @ 3 () 3
A purse contains 10 notes of T 2000, 15 notes of ¥ 500 and 25 notes of ¥ 200. One note is
drawn at random. What is the probability that the note is either a ¥ 500 note or ¥ 200 note ?

® 3 © 2 «a/%

Ul =

" (a)
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A.K. RAJADHURAI, m.5¢., M.PHil, B.E¢

5 B.T. ASSISTANT (MATHS) 2
GOVT (G) HIGHER SEC. SCHABE
PODATURPET - 631208.
UGS - 1/ PART - 1I TIRUVALLUR DISTRICT

GOy : afmm@u.l@l@ 10 aﬁ]emrésa;@ésg L wellsseyb. efenr eram 28 -&@®
SL_L_TWLoNS; QS]G’G)I_lLIQﬂésasme. 10x2=20

Note : Answer any ten questions, Question No. 28 is compulsory.

15. A={1,2 3} poid B={x|x ererrig 10 -gg lLé APlw usT aTem) eraflé, AXB -gé

ST,
B=42.35,1}
Let A={1,2,3}and B={x|xisa prime number less than 10}. Find A % B )}
3,1

AxB = {(,2)CL30LY L) (2,29¢5% C2,$) C21)(3,2)(3,P (39C

16. flx)=2x+1 HYIL g(x)=22-2 erafléd fog wimLDd gof -8 ETaTS.

Find fog and g;if when f(x) =2x Fland g(z)=x2-2. %
4 = forey = 200041 = 2al 3,
, Fa
Gaf = 9 (24D = Qa+)'—2 = haT 4x—],

17. " @@ pufiLib 532 UBOsm yaer o drerar. e aiflaséa 21 LHQST g &6T 6igLD
S(H&s mbllenT. crégeman ouflamasar Ppw QUOID erameyld WHYID TEsmar . |
QST _g&6T SN HEGLD, eraneyd srawvis. 4 = l:j/ tY =7 ¢332 = 1 (2)+7

Com YWS = 28, Ramaiy uPo =
A man has 532 flower pots. He wants to arrange them in rows such that each row contains
21 flower pots. Find the number of completed rows and how many flower pots are left over.

3
18. &l (H& : b iy

aed R L :
. - N +AY + L
Add: o 4 y :_7}__2-4«:.(?\ ) 2——2"‘;7""’%'&3
X-y . y-x “-3, . =y

21 (20 . . 48 ; ) ooty
19: A= (1 3), B= (1 3] erafleo AB opmib BA srams. Gogib AB=BA eremug sflwm

e, 15, = ¢ 3 - <4' Q—)
(2 TR ) W 5 | AB (;_ ‘)) BA = s IQ
If A= [f ;J,B= (i g) find AB and BA. Verify if AB=BA.

[ ®Liys / Turn over
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20. Gsr@sstuiL LLEHH ZA-Wear @mswQaily AD @y@b. BD=4 @&.8.
DC=3 Gl&.15. wpmw AB=6 Q&.15. eraflér AC -pé sreis.

3
N, dc Al a8

A 4@s.5. D 3Qg.8. C
Ip the given diagram, AD is the bisector of ZA. If BD =4 cm, D=3 cm and AB=6'cm,
find AC.
ALK RAJADHURAI, M.Sc.M.PHLBEC,
5 B T. ASSISTANT (MATHS)
Y GOVT (G) HIGHER'SEC. SCHOOL
PODATURPET - 631208.

TIRUVALLUR DISTRICT

B Zcm D 3cm C

21. . (-2, a) LOHMID (9, 3) eTar u;iTaﬂcssGiT Uil 5Cl gD ngfrCSa;rrLLq_Girr smlie| — = erefled
a -ufle LI STETS. bt b ==Y = 3~-2 - =L = aer ] "]
o — %y W 9+ 2 5 7 A >

The line through the points (-2, a) and (9, 3) has slope — % Find the value of ‘a’.

22. x-2y+3=0, 6x+3y+8=0 YHw CpiCaerPsdr @amsQsmanm G&réJ@gg,rrsmsmaJ
Tans Sr_(HS. :
Show that the straight lines x—2y+3=0 and 6x+3y+8=0 are perpendicular. )
Qb Loy o L. M, = )5" M, =—2 m, xm, = ,%_Xv-Z. :—L‘
23. 50¥3 8. ewpgperer @@ urepar 2 s mBbE 30° Qn&ss Caransde
serruilgiatar AWHE @eTn LUTTESLLEEDS e, EWHEHDGD LTedHEHELD

Qe Cuujater Qsreneemels Sreams. ‘bbn 30° i Kola = e n EDVA
. i Z
From the top of a rock 50v/3 m high, the angle of depression of a car on the groundoits

observed to be 30°. Find the distance of the car from the rock.

Az | ¥oW

S———
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@ Camrermige 6y i

s tﬂg esaﬂsur Qﬂ}gilgm 4:7 ergfled %mg)gﬂsm sen @ua&memﬂm LAY N

Iftheratloofradijoftw -3 WS LR Y4 /f- T =7 6({, 3‘&3
© Spheres is 4 , 7, find the ratio of their volumes

@ SalbGan QoL ssem s
wHOId 1 Q8.8 erefep, Qenls
The slant height of 4 frustum o

MWD 5 Qs.8 @b, @iger @@ <pThiser 4 As.5
SEQLSHlen uaneTLIFLIONLIS STANS.

fa cone is 5 cm and the radii of its ends are 4 cm and 1 cm.

Find its curved surface area. T

—_ 2
= B (R+7) n (44Dy = 257 (w
_—
STH&SLLL S @
QASTHSSILL L Lipeueigyn 6554 snems,
uwg B
, | 16-18 | 18-2 ; y y
(QJ@I_I!:JaﬁTﬂs\)) 0 (20-22|22-24 |24-26|26-28
LoressTeun s el sor

: : 0 4 2 =)
LY 4 4 . 29
\ 3
= & - e (&) c
R=L-85 = 28-1% 7 YES
Find the range of the following distribution : JCU "-g
=i
. ® o
Age (in years) 16-18 | 18-20 | 20-22 | 22-24 | 24-26 | 26-28 s
)
0o
Number of Students 0 4 6 8 2 2 =%

R smenLugidrar 80 wEh&aT, 70 fleuliy wHmb 50 QeucTenarl] L& &6l a0 (5 5 5

sweumiiy wenuld @ 4 Caibbsheah Curg @i@ LD@%‘T Blpt Yeurs @@5'5

Pspssa) srams. N (S) =200  P(Y)= cg = ifo =
A flower is selected at random from a basket containing 80 yellow, 70 red and 50 white
flowers. Find the probability of selecting a yellow coloured flower.

aarp Qsriiaufles @ el @&s0srirafamsur

V2, V8, V18, V32, /50,
Qemawur aauams Cardlés. Q5 @0 &mL(Hsdsr_rafams e,
FHursd SrewTs. ra-. 2Ya, Ve, l(-r G uen &.;._

Check whether the sequence V2, 8, V18, /32, /50,

then find the common difference.

&.—_—_ 2(9:...(5, 3(‘2:;—2.\/2‘,——«'\[;—

O g Qumr
E, -t

is an A.P or not ? If it is an A.P,

e T Vo

......

My =

HOIH (9) 1A0D
V1SISSVY '1'g

T00HOS "03S ¥3

(SHLVIW) LN

'}

TEMEWISN [YHNHAY VY Y'Y

[ HwLiys / Turn over
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L@ - 111/ PART - 111

GOy : eemeuBugyd 10 amssEnsE oL wallsseyn. slenr eram 42 -6®
s_Lmuwons edenLweflése]w. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.
Az {unseyss,t) B=§23,8 7). el '
29. A eremug 8 -@ L& Gepeurar @ue eransefen sewrd, B gl 8 - 5‘9‘-"5
G@peuTar LGN eramsanen sard wpnib C erenug @rienb LUemL L&T ot araaflen
sawd erafled (A N B)xC=(AxC) n (BXC) ereneng &flumf.
Let A = The set of all natural numbers less than 8, B = The set of all prime numbers
less than 8, C = The set of even prime numpers. Verify that (A 0 B) XC= (AxC) N (BX <

AnG = { »,3,%5,13 (Ane)x ¢ =)(2,2) (%507, 2)3 e AR 8
Aroalexe) = {6,050 (T0) —D Fm 0,4 LTI
.30. f:A > Baep sriurang f(x) = %"1, eravi @JG@I}UJQ]S&SL'JLJ®‘§@@‘ QLG
et A=(2,4,6,10,12), B={0, 1, 2, 4, 5, 9} <=5 @HEEDLCUNE STy f -8 G@AIGD

Lo § S @B e ann)S
£ =S () aufiengs Gamgaaflen semrd (i) Sl euenen

o (i) <SLUGGH LLLD (iv) euenyuLLD

© 29 Let f: A > B be a function defined by f(x) = 5 -1, where A={2, 4,6, 10, 12},
s ,‘L) t"" E( . s

72 S5B={0,1,2 4,5, 9). Represent fby

s 0 <1
AN A2 TN

(i) set of ordered pairs : (ii).' a table

/

(iii) an arrow diagram (iv) a graph

P 31. plx1 % szz X p3x3 X p4x4=113400 @E@E Py, Py Py P, CTETLIGT G auflensul e
n=y, 9(1:3 SIDLHS LST Gramsar DI Xy, Xy X, Xy Gu.'s'zsrua'n W(p&seT arafld p,, P, Py Py
?Lz 3, 0= % opmid x; x5 %y % SpAweupPlen ELILSMETS STeTs.

Fz‘-‘- ¥ : Ny =2 p1x1 % P2x2 x p3x3 X p4x4=1134()0 where p, p,, P, P, are primes in ascending order
P :7 'M,:, and x;, Xy, X3, X, are integers, find the value of Py Py Py Py and xq, X5, X3, Xg.

CHTEL IR P e

(13400 = 2R3 XY X7
D Sras. 62+72 482+ 4212
32. &HHFL SIS 6 oL L 2 o S'L)
Find the sum of the series 62+72+8% 4 +212 = (l L+ ~~+'2‘) = C‘ AL et
Q,’ XZZLX;R@ g X bxu = 33”,_&"3— = 32.;-6

=,“ £z ==

6 b
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T e
9(A 8) - 2 '_4) ~ @ 8513

2 <1
1edf1)y " 5
33. A=(2 u 1] LpOIL B =|-1 4 | erafléd (AB)"=BTAT erenuengé sfluniés.

R Nl 2~0 ) ) . o ¥\ A
BA:(-tqa.)<’f'|')“<Q-4 @
1 2 '1) %21 From QA ® ;s

524 and B = -01 4 |, show that (AB)T=BTAT CHS = RHUS, ,
2

A.K. RAJADHURAI, M.Sc.,M.Phil. B.E.,
— Bl ® B.T. ASSISTANT (MATHS)
34. Garem @mesw@ays Copnsms erpd Hiyeys. GOVT (G) HIGHER SEC. SCHOQ!

State and prove Angle Bisector Theorem, ?l%? ;%I\L,’”EBE,T[T, S :,3 12, 9?—

I A=(

35. (=4 -2),(=3,K), 3, —2) wHOHB (2, 3) eyAuw peoasmar aflesurss Qsream_
Brosrsdlen Ll 28 5. @@s6T erailed, k -ule wdllientis smawrs.
Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are taken in the
order (—4, —-2), (-3, k), (3, —2) and (2, 3).
Avea = L [avwe xgng 2y A - TR . Q421250

, “ iPedpo¥y Mg 9,4 5 k =%

36. (=3, 8) eramm yerefl aufld Qsdaugiid, @y syissafian Weos Qe B giem(Hsatien
Fa(HED 7 2 e wigiren CHTGCHM iqen Fwaiim oL Sres.
A line makes positive intercepts on coordinate axes whose sum is 7 and it passes through

|

(=3, 8). Find its equation. a+bs W MwR oy ey =8 o 8

3
A +4a-2120 =2(2=3 a== > b= .\ﬁm—&w»l?—@

. 3 3 .3 3
37. Q&g - SIn"A + cos”A sin"A — cos”A _
bo sinA' + cosA X sinA - cosA 2= QMA/ \é-': Cosk
L I T W R
Prove thak: sin3A + cosSA F sinBA - cosBA s / A4y %=y
sinA + cosA sinA — cosA | 4 ’?\:'-j . ¥
‘ £ o
2 Q8 Ty w484y
B Q_C'l—(-j): ?_(S\MLA‘I-CoSL/’()’:_. ’?’c.)y =2 » i
38. mrgen eremm QuUmludlwie) reRTaul @i 2 (Henemudlen @ HLMPLD a‘m%qesch 2 emeTeumm)
- wrlfl @erenp 2 meursflami. wrHfiuller Berd 12 Q&.8. wHmD AL 1b 3 Qa.i5,
2GL. peablaurm smbller ewpepd 2 G55 QméGwremd prser 2 Heaursdw
wrélfiuien ser siaTenas SraRTs. -

Nathan, an engineering student was asked to make a model shaped like a cylinder with two
cones attached at its two ends. The diameter of the model is 3 cm and its length is 12 cm. If
each cone has a height of 2 cm, find the volume of the model that Nathan made.

| Viﬁmdf' modd = W;LH + zx:,‘s— Avoh | 1{@ Ay 2 ,
% C b Am (HLIYs / Turn over

2.
E .98 ey (S4Ex2 \
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39. 16 Q&.5. gyreperer @f e Carsl upg, e mESLUULGH 2 Qa.18. pT@peTeT Ao
UBSSATESILLLTE, Tésmen LGS el sgh ?

A metallic sphere of radius 16 cm is melted and recast into small spheres each of radius 2 cm.
How many small spheres can be obtained, ?

No. Snall = %Tﬂ ~ Ibxlbx1b - PxOxg = 12,
u-;xj:ow% oy W BNy

40. sZwr wHMOL AFLT @EHeuHL 5 UTLE&Gad QuDD Quwrss IDQUQU“.‘”“'"
TX_"-: _§B_ wenGw 460 wHMD 480 Y GLW. Gugiid gen S 65 60 & & bl & 6T @oanng’uJ

S 46 wpmid 2.4 erafled, wWrmerw QFwd s sy OsTaRTLSl ? .
=YL Qo 2.4 G i\w Ve ;@?x ug’o EI ‘.‘?vﬁ"t—- ..;26' ﬂéhzsgmuﬂﬂ
an

— The total marks scored by two students; Sathya and Vidhya in 5 ‘subjects are
Ny = sg_’— with standard deviation 4.6 and 2.4 respectively. Who is more consistent in performance ?

sq6 Q= Ebxwo=sy oy, = Do =25 K

evy <cv, = Vidihva & 96 towristenl _ ,
41. g euulled 5 é\mﬂq”ﬁmu IJI‘Ij')gJHS)@Lb', 6 @Te'rrg)m Himt) UEISEHLD, 7 LIFDF Hlmus

LBSISEBLD, 8 MUY RmL LpSS@EHD 2 ererar. sbeumiliy (papuie a9 60 mHSI
@ Ubgl aTHEsLILGEDS. AHSL LbS,

i) Geudrenar | A.K. RAJADHURAI, M.Sc.,M.Phil. B.E,
. B.T. ASSISTANT (MATHS)

M) soUY Soeg Heay _ GOVT (G) HIGHER SEC. SCHOOL
PODATURPET - 631208.
(i) QeudTeneTwTs @)EOQTLOE " TIRUVALLUR DISTRICT

(iv) QeucTererunsayb, SHLILITEGD @EOMTLOW. -

@LusHETa HSNSEESMOTE STERTS.
A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is drawn at
random from the bag. Find the probability that the ball drawnis pn¢g ) = 2 4

2}

(i) white *° PC\): .Y%_E_‘:_))_ :ié-é— ::_'.;—

_ y
(i) not white *Pc‘w l) ~1- PCW) = ‘_'3,/ ml 194
(iv) neither white nor black . L (:3 13 /
NG o e Y
PONAB) =" 7 =41 530

42, (x—1)2+(@x—2)%+(x—3)2 = 0 crenp FETUTL g6 epomseilen SETOML TS,

Deterr:u'ne the rzlature of :he roots of the equation : A ok bLﬁq.i g

(x-1)*+(x-2°+(x-3)* =0 _ -
'R-Zm-\l+9\L_q.vu+|++x_6m+‘i:o i ( ) A’C) )

31"'_(214.!!1_ =0 o = 44 ~ 168 = -—2-1,-

T Rooh wu hb‘f'w'eupf @mEMM.
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